

Tabulation of Bids								Page 1 of 5	
С	ontract ID: 25701				Counties:	OCEAN			
Le	tting Date: June	05, 2025			District(s):	H4			
	Call Order: 701				Project(s):	N/A			
Con	tract Time: 03/31	/26 COMPLET		ATE	Min:	Max:			
Con	tract Description:	DREDGING	AND (CHANNEL IMPRO	OVEMENTS BE	RKELEY CHAN	NEL COMPLEX		
	lo / Item ID Description			(1) H & L CONT	RACTING, LLC	(2) J.F. BRENN	NAN CO., INC.		
Alt Se	t / Alt Member	Quantity and	d Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 miscellaneous		Cat Alt Set:		Cat Alt Member:					
0001	151006M	1	.000	95,000.00000	95,000.00	33,200.00000	33,200.00		
PAYME	RMANCE BOND ANI NT BOND RFORMAI ND PAYMENT BON	NCE	OLL						
0002	152015P	1	.000	5,000.00000	5,000.00	5,000.00000	5,000.00		
	TION LIABILITY INSU TION LIABILITY INSU		OLL						
0003	153009P		(1)	12,500.00000	12,500.00	10,000.00000	10,000.00		
SCHED	ART PROGRESS JLE AND UPDATES PROGRESS SCHEL DATES		LS						
0004	154003P		(1)	2,000,000.00000	2,000,000.00	3,200,000.00000	3,200,000.00		
MOBILIZ	ZATION MOBILIZATI	ON	LS						



SYSTEM

			Т	abulation of B	ids			Page 2 of 5
С	ontract ID: 25701			Counties:	OCEAN			
Le	tting Date: June (05, 2025		District(s):	H4			
(Call Order: 701			Project(s):	N/A			
Cont	tract Time: 03/31/	26 COMPLETION D	ATE	Min:	Max:			
Con	tract Description:	DREDGING AND (CHANNEL IMPR	OVEMENTS BE	RKELEY CHAN			
	lo / Item ID Description		(1) H & L CONT	RACTING, LLC	(2) J.F. BRENN	NAN CO., INC.		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN: 0001	miscellaneous		Cat Al	t Set:	Cat A	It Member:	
0005	155003M	1.000	45,000.00000	45,000.00	20,000.00000	20,000.00		
	FFICE TYPE A SET							
0006	155021M	10.000	3,500.00000	35,000.00	8,400.00000	84,000.00		
MAINTE	FFICE TYPE A NANCE FIELD OFFI MAINTENANCE	MO CE						
0007	158009M	500.000	30.00000	15,000.00	20.00000	10,000.00		
ORANG	DUTY SILT FENCE, E HEAVY DUTY SILT ORANGE	LF						
8000	158072M	2.000	3,000.00000	6,000.00	1,450.00000	2,900.00		
	Y EMERGENCY SP STREAM DIVERSIO	,						



		Page 3 of 5					
Contract ID: 25701			Counties:	OCEAN			
Letting Date: June 05, 202	5		District(s):	H4			
Call Order: 701			Project(s):	N/A			
Contract Time: 03/31/26 CO	MPLETION DA	ΑΤΕ	Min:	Max:			
Contract Description: DRE	DGING AND C	CHANNEL IMPRO	OVEMENTS BE		NEL COMPLEX		
Line No / Item ID Item Description		(1) H & L CONT	RACTING, LLC	(2) J.F. BRENN	IAN CO., INC.		
•	tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 r	niscellaneous		Cat Al	t Set:	Cat A	It Member:	
0009 158052P	(1)	45,000.00000	45,000.00	12,000.00000	12,000.00		
STREAM DIVERSION SYSTEM STREAM DIVERSION SYSTEM	LS						
0010 MMG021M	7,400.000	20.00000	148,000.00	14.00000	103,600.00		
PERIMETER CONTAINMENT PERIMETER CONTAINMENT	LF						
0011 MMG089M	1.000	150,000.00000	150,000.00	18,000.00000	18,000.00		
Temporary Construction Access TEMPORARY CONSTRUCTION ACCESS	LS						
0012 161003P	(1)	100,000.00000	100,000.00	70,000.00000	70,000.00		
FINAL CLEANUP FINAL CLEANUP	LS						
0013 201003P	(1)	25,000.00000	25,000.00	8,900.00000	8,900.00		
CLEARING SITE CLEARING SITE	LS						



DREDGED MATERIAL

DEWATERING SITE PREPARATION

			Т	abulation of Bi	ds			Page 4 of 5
Contract ID: 25701				Counties:	OCEAN			
Le	tting Date: June 0	5, 2025		District(s):	H4			
(Call Order: 701			Project(s):	N/A			
Conf	tract Time: 03/31/2	26 COMPLETION DA	ATE	Min:	Max:			
Cont	tract Description:	DREDGING AND C	CHANNEL IMPRO	OVEMENTS BE	RKELEY CHANN	NEL COMPLEX		
	lo / Item ID Description		(1) H & L CONT	RACTING, LLC	(2) J.F. BRENN	IAN CO., INC.		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	SECTION: 0001 miscellaneous		Cat Alt Set:		t Set:	Cat Alt Member:		
0014	MMG020M	163,680.000	26.00000	4,255,680.00	49.75000	8,143,080.00		
PLACEN DREDGI	ING, TRANSPORT AI MENT TO MARSH FIL ING, TRANSPORT AI MENT TO MARSH FIL TMENT)	L ND						
0015	MMG020M	6,610.000	30.00000	198,300.00	49.40000	326,534.00		
PLACEN DREDGI PLACEN	ING, TRANSPORT AI MENT TO MARSH FIL ING, TRANSPORT AI MENT TO MARSH FIL TOWNSHIP)	.L ND						
0016	MMG079M	1.000	2,325,000.00000	2,325,000.00	70,000.00000	70,000.00		
-	ED MATERIAL ERING SITE PREPAF	LS						



STATE OF NEW JERSEY DEPARTMENT OF TRANSPORTATION Phil Murphy, Governor | Sheila Oliver, Lieutenant Governor

	-	Tabulation of Bi	ds			Page 5 of 5
Contract ID: 25701		Counties:	OCEAN			
Letting Date: June 05, 2025		District(s):	H4			
Call Order: 701	Project(s): N/A					
Contract Time: 03/31/26 COMPLETION DA	ATE	Min:	Max:			
Contract Description: DREDGING AND C	HANNEL IMPR	OVEMENTS BE	RKELEY CHANI	NEL COMPLEX		
Line No / Item ID Item Description	(1) H & L CONT	RACTING, LLC	(2) J.F. BRENI	NAN CO., INC.		
Alt Set / Alt Member Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 miscellaneous		Cat Alt Set: Cat A		Alt Member:		
0017 603036P 60.000	800.0000	48,000.00	550.00000	33,000.00		
RIPRAP STONE CHANNEL SY PROTECTION, 12" THICK (D50=6") RIPRAP STONE CHANNEL PROTECTION, 12" THICK (D50=6")						
Section Totals:		\$9,508,480.00	:	\$12,150,214.00		
Contract Totals		\$9,508,480.00		\$12,150,214.00		
Cost Plus Time Totals	\$9,508,480.00 \$12,15		\$12,150,214.00			
() indicates item is bid as Lump Sum				I		

6/5/2025

(PA) DEPA	e of New Jersey RTMENT OF TRANSPORTATIO 19, Governor Sheila Oliver, Lieutenant Governor	N		6/5/2025
		Vendor Ranking		Page: 1
Call Order:	701	Contract ID: 25701	Counties: OCEAN	
Letting Date:	June 05, 2025 10:00 AM	District(s): H4		
		Contract Time: 03/31/26 COMPLETION DATE		
Contract Desci	ription: DREDGING AND CHANNI COMPLEX	EL IMPROVEMENTS BERKELEY CHANNEL	Project(s): N/A	
Rank	Vendor Name		Total Bid	Percent Of Low Bid

1	H & L CONTRACTING, LLC	\$9,508,480.00	100.00%
2	J.F. BRENNAN CO., INC.	\$12,150,214.00	127.78%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.